

PROPERTY DETAILS REPORT

St. Louis County, Minnesota



Date of Report: 5/13/2025 11:08:04 PM

| | | | General De | etails | | | | | | |
|---|-----------------------|--------------------------|-----------------|-----------------|----------------|------------------------|---------------------|--|--|--|
| Parcel ID: | 030-0500-00080 | | | | | | | | | |
| | | Leg | gal Description | on Details | | | | | | |
| Plat Name: | ELY | | | | | | | | | |
| Section | Tow | nship | Range | | | Lot | Block | | | |
| 26 | 6 | 53 | | 12 | | - | - | | | |
| Description: | SW 1/4 OF SW | 1/4 EX W 16 | 0 FT OF E 193 F | T OF N 250 FT C | F S 317 F1 | г | | | | |
| | | | Taxpayer D | etails | | | | | | |
| Taxpayer Name | MINNESOTA NO | ORTH COLLE | | | | | | | | |
| and Address: | 1515 E 25TH ST | | | | | | | | | |
| | HIBBING MN 55 | 5746 | | | | | | | | |
| | | | Owner De | taile | | | | | | |
| Owner Name | SYSTEM ST JR | COL | Owner De | lans | | | | | | |
| | | Paya | able 2025 Tax | c Summary | | | | | | |
| | 2025 - Net T | ax | | • | | \$0.00 | | | | |
| | 2025 - Spec | ial Assessme | inte | | \$2 | \$800.00 | | | | |
| | | | | | | | | | | |
| | 2025 - 10 | tal lax & s | Special Asse | ssments | ¢و | 300.00 | | | | |
| | | Curren | t Tax Due (as | s of 5/12/2025 |) | | | | | |
| Due May 1 | Due October 15 | | | | Total Due | | | | | |
| 2025 - 1st Half Tax | \$400.00 | 2025 - 2nd Half Tax | | \$40 | 0.00 20 | 025 - 1st Half Tax Due | \$0.00 | | | |
| 2025 - 1st Half Tax Paid | \$400.00 | 2025 - 2nd Half Tax Paid | | \$40 | 0.00 20 | 025 - 2nd Half Tax Due | \$0.00 | | | |
| | \$0.00 | 2025 - 21 | nd Half Due | \$ | 0.00 20 | 2025 - Total Due \$0 | | | | |
| | | | Parcel De | tails | | | | | | |
| Property Address: | 1900 E CAMP S | T, ELY MN | | | | | | | | |
| School District: | 696 | | | | | | | | | |
| Tax Increment District: | - | | | | | | | | | |
| Property/Homesteader: | - | | | | | | | | | |
| | A | ssessme | nt Details (20 | 24 Payable 2 | 025) | | | | | |
| | nestead tatus | Land EMV | Bldg EMV | Total EMV | Def Lar EMV | nd Def Bldg EMV | Net Tax Capacity | | | |
| 720 0 - Non Hom | nestead | \$172,800 | \$25,434,000 | \$25,606,800 | \$0 | \$0 | - | | | |
| | Total: | \$172,800 | \$25,434,000 | \$25,606,800 | \$0 | \$0 | 0 | | | |
| | | | Land Det | ails | | | | | | |
| Deeded Acres: | 39.08 | | | | | | | | | |
| Waterfront: | - | | | | | | | | | |
| Water Front Feet: | 0.00 | | | | | | | | | |
| Water Code & Desc: | P - PUBLIC | | | | | | | | | |
| Gas Code & Desc: | - | | | | | | | | | |
| Sewer Code & Desc: | P - PUBLIC | | | | | | | | | |
| Lot Width: | 0.00 | | | | | | | | | |
| Lot Depth: | 0.00 | | | | | | | | | |
| The dimensions shown are no https://apps.stlouiscountymn. | ot guaranteed to be s | | | | | email PropertyTax@stlo | ouiscountymn.gov. | | | |



PROPERTY DETAILS REPORT



St. Louis County, Minnesota

Date of Report: 5/13/2025 11:08:04 PM

| | | Improven | nent 1 De | tails (COLLEGE |) | | |
|----------------------|------------|----------|---------------------|----------------------------|------------------------|-------------------|--|
| Improvement Type | Year Built | Main Flo | oor Ft ² | Gross Area Ft ² | Basement Finish | Style Code & Desc | |
| VOCATIONAL SCHOOL | 0 | 87,055 | | 87,055 | - | - | |
| Segment | Story | Width | Length | Area | Foundati | ion | |
| BAS | 1 | 0 | 0 | 8,325 | BASEMENT | | |
| BAS | 1 | 0 | 0 | 11,343 | BASEMENT | | |
| BAS | 1 | 0 | 0 | 13,897 | BASEMENT | | |
| BAS | 1 | 0 | 0 | 15,530 | BASEMENT | | |
| BAS | 1 | 0 | 0 | 17,634 | BASEMENT | | |
| BAS | 1 | 0 | 0 | 20,326 | BASEME | NT | |
| BMT | 0 | 0 | 0 | 2,120 | FOUNDAT | ION | |
| | | Improve | ement 2 I | Details (DORM) | | | |
| Improvement Type | Year Built | Main Flo | oor Ft ² | Gross Area Ft ² | Basement Finish | Style Code & Desc | |
| DORM | 1998 | 18,6 | 63 | 43,217 | - | - | |
| Segment | Story | Width | Length | Area | Foundati | ion | |
| BAS | 1 | 0 | 0 | 581 | FOUNDAT | ION | |
| BAS | 1 | 0 | 0 | 3,880 | FOUNDAT | ION | |
| BAS | 2 | 0 | 0 | 3,850 | BASEME | NT | |
| BAS | 3 | 0 | 0 | 5,176 | FOUNDAT | ION | |
| OP | 3 | 6 | 30 | 180 | POST ON GR | ROUND | |
| | | Improvem | ent 3 Det | ails (2017 DORM | Л) | | |
| Improvement Type | Year Built | Main Flo | oor Ft ² | Gross Area Ft ² | Basement Finish | Style Code & Desc | |
| DORM | 2017 | 2,73 | 32 | 6,214 | - | - | |
| Segment | Story | Width | Length | Area | Foundati | ion | |
| BAS | 2 | 0 | 0 | 991 | FOUNDATION | | |
| BAS | 3 | 0 | 0 | 750 | FOUNDAT | ION | |
| | | Improvem | ent 4 Det | ails (2017 DORN | Л) | | |
| Improvement Type | Year Built | Main Flo | oor Ft ² | Gross Area Ft ² | Basement Finish | Style Code & Desc | |
| DORM | 2017 | 2,73 | 32 | 6,214 | - | - | |
| Segment | Story | Width | Length | Area | Foundati | ion | |
| BAS | 2 | 0 | 0 | 991 | FOUNDAT | ION | |
| BAS | 3 | 0 | 0 | 750 | FOUNDAT | ION | |
| | | - | | ails (2017 DORN | Л) | | |
| Improvement Type | Year Built | Main Flo | | Gross Area Ft ² | Basement Finish | Style Code & Desc | |
| DORM | 2017 | 2,18 | | 6,558 | - | - | |
| Segment | Story | Width | Length | | Foundati | | |
| BAS | 3 | 0 | 0 | 2,186 | FOUNDAT | ION | |
| | | - | | ails (2017 DORM | • | | |
| Improvement Type | Year Built | Main Flo | | Gross Area Ft ² | Basement Finish | Style Code & Dese | |
| DORM | 2017 | 2,18 | | 6,558 | - | - | |
| Segment | Story | Width | Length | | Foundati | | |
| BAS | 3 | 0 | 0 | 2,186 | FOUNDAT | ION | |
| | | - | | ils (WOOD PLA | NT) | | |
| Improvement Type | Year Built | Main Flo | or Ft ² | Gross Area Ft ² | Basement Finish | Style Code & Desc | |



St. Louis County, Minnesota



Date of Report: 5/13/2025 11:08:04 PM

| GARAGE | 0 | 4,20 | 04 | 4,204 | - | DETACHED | | |
|-------------------------|-----------------------------|----------|-------------|----------------------------|----------------------|-----------------------------|--|--|
| Segment | Story | Width | Length | Area | Founda | tion | | |
| BAS | 1 | 32 | 34 | 1,088 | FLOATING | SLAB | | |
| BAS | 1 | 38 | 82 | 3,116 | BASEMI | ENT | | |
| L | Im | provem | ent 8 Deta | ils (D-WIDE A | PT) | J | | |
| Improvement Type | Year Built | - | | Gross Area Ft ² | Basement Finish | Style Code & Desc | | |
| MANUFACTURED HOME | 1993 | 1,62 | 20 | 1,620 | - | DBL - DBL WIDE | | |
| Segment | Story | Width | Length | Area | Foundation | | | |
| BAS | 1 | 27 | 60 | 1,620 | POST ON G | ROUND | | |
| Bath Count | Bedroom Count | | Room C | ount | Fireplace Count | HVAC | | |
| 2.0 BATHS | 4 BEDROOMS | | - | | - | CENTRAL, GAS | | |
| | Im | provem | ent 9 Deta | ils (D-WIDE A | PT) | | | |
| Improvement Type | Year Built | Main Flo | oor Ft 2 | Gross Area Ft ² | Basement Finish | Style Code & Des | | |
| MANUFACTURED HOME | 1993 | 1,62 | 20 | 1,620 | - | DBL - DBL WIDE | | |
| Segment | Story | Width | Length | Area | Founda | tion | | |
| BAS | 1 | 27 | 60 | 1,620 | POST ON G | ROUND | | |
| Bath Count | Bedroom Count | | Room C | ount | Fireplace Count | HVAC | | |
| 2.0 BATHS | 4 BEDROOMS | | - | | - | CENTRAL, GAS | | |
| | Im | proveme | ent 10 Deta | ails (D-WIDE A | APT) | | | |
| Improvement Type | Year Built | • | | Gross Area Ft ² | , Basement Finish | Style Code & Des | | |
| MANUFACTURED HOME | 1993 | 1,62 | 20 | 1,620 | - | DBL - DBL WIDE | | |
| Segment | Story | Width | Length | Area | Foundation | | | |
| BAS | 1 | 27 | 60 | 1,620 | POST ON GROUND | | | |
| Bath Count | Bedroom Count | | Room C | ount | Fireplace Count | HVAC | | |
| 2.0 BATHS | 4 BEDROOMS | | - | | - CENTRAL, (| | | |
| | Im | proveme | ent 11 Deta | ails (D-WIDE A | APT) | | | |
| Improvement Type | Year Built | Main Flo | oor Ft 2 | Gross Area Ft ² | Basement Finish | Style Code & Des | | |
| MANUFACTURED HOME | 1993 | 1,62 | 20 | 1,620 | - | DBL - DBL WIDE | | |
| Segment | Story | Width | Length | Area | Foundation | | | |
| BAS | 1 | 27 | 60 | 1,620 | POST ON G | ROUND | | |
| Bath Count | Bedroom Count | | Room C | ount | Fireplace Count | HVAC | | |
| 2.0 BATHS | 4 BEDROOMS | | - | | - | CENTRAL, GAS | | |
| | Im | proveme | ent 12 Deta | ails (D-WIDE A | APT) | | | |
| Improvement Type | Year Built | • | | Gross Area Ft ² | , Basement Finish | Style Code & Dese | | |
| MANUFACTURED HOME | 1993 | 1,62 | 20 | 1,620 | - | DBL - DBL WIDE | | |
| Segment | Story | Width | Length | Area | Founda | tion | | |
| BAS | 1 | 27 | 60 | 1,620 | POST ON G | ROUND | | |
| Bath Count 2.0 BATHS | Bedroom Count 4 BEDROOMS | | Room C | ount | Fireplace Count | HVAC CENTRAL, GAS | | |
| - | | nroveme | ont 13 Dot | ails (D-WIDE A | | , | | |
| Improvement Type | Year Built | Main Flo | | Gross Area Ft ² | Basement Finish | Style Code & Des | | |
| MANUFACTURED | 1993 | 1,62 | | 1,620 | | DBL - DBL WIDE | | |
| HOME | 1993 | 1,02 | 20 | 1,020 | - | | | |



PROPERTY DETAILS REPORT



St. Louis County, Minnesota

| Segment | Story | Width | Length | Area | Foundati | on | | |
|----------------------|---------------|-----------|--------------------|----------------------------|-----------------------------------|------------------|--|--|
| BAS | 1 | 27 | 60 | 1,620 | POST ON GR | OUND | | |
| Bath Count | Bedroom Count | | Room C | Count | Fireplace Count | HVAC | | |
| 2.0 BATHS | 4 BEDROOMS | | - | | - | CENTRAL, GAS | | |
| | Im | provemen | t 14 Det | ails (D-WIDE A | APT) | | | |
| Improvement Type | Year Built | Main Floo | or Ft ² | Gross Area Ft ² | Basement Finish | Style Code & Des | | |
| MANUFACTURED HOME | 1993 | 1,620 |) | 1,620 | - | DBL - DBL WIDE | | |
| Segment | Story | Width | Length | Area | Foundation | | | |
| BAS | 1 | 27 | 60 | 1,620 | POST ON GR | OST ON GROUND | | |
| Bath Count | Bedroom Count | | Room C | Count | Fireplace Count | HVAC | | |
| 2.0 BATHS | 4 BEDROOMS | | - | | - | CENTRAL, GAS | | |
| | Im | provemen | t 15 Det | ails (D-WIDE / | APT) | | | |
| Improvement Type | Year Built | Main Floo | or Ft ² | Gross Area Ft ² | Basement Finish | Style Code & Des | | |
| MANUFACTURED HOME | 1993 | 1,620 |) | 1,620 | - | DBL - DBL WIDE | | |
| Segment | Story | Width | Length | Area | Foundati | tion | | |
| BAS | 1 | 27 | 60 | 1,620 | POST ON GR | OUND | | |
| Bath Count | Bedroom Count | | Room C | Count | Fireplace Count | HVAC | | |
| 2.0 BATHS | 4 BEDROOMS | | - | | - | CENTRAL, GAS | | |
| | Im | proveme | nt 16 De | tails (OPEN K | LN) | | | |
| Improvement Type | Year Built | Main Floo | or Ft ² | Gross Area Ft ² | Basement Finish | Style Code & Des | | |
| GAZEBO | 0 | 1,096 | 5 | 1,096 | - | - | | |
| Segment | Story | Width | Length | Area | Foundation | | | |
| BAS | 1 | 0 | 0 | 1,096 | FLOATING SLAB | | | |
| | | Improvem | ent 17 D | Details (HOUS | Ε) | | | |
| Improvement Type | Year Built | Main Floo | | Gross Area Ft ² | Basement Finish | Style Code & Des | | |
| HOUSE | 0 | 1,188 | 3 | 1,188 | AVG Quality / 891 Ft ² | RAM - RAMBL/RNO | | |
| Segment | Story | Width | Length | Area | Foundati | | | |
| BAS | 1 | 27 | 44 | 1,188 | WALKOUT BAS | SEMENT | | |
| DK | 1 | 4 | 8 | 32 | POST ON GROUND | | | |
| DK | 1 | 4 | 10 | 40 | POST ON GROUND | | | |
| DK | 1 | 4 | 12 | 48 | POST ON GROUND | | | |
| DK | 1 | 8 | 12 | 96 | POST ON GROUND | | | |
| Bath Count | Bedroom Count | | Room C | Count | Fireplace Count | HVAC | | |
| 2.5 BATHS | 3 BEDROOMS | | - | | - (| C&AIR_COND, GAS | | |
| | | Impre | ovement | 18 Details | | _ · · | | |
| Improvement Type | Year Built | Main Floo | | Gross Area Ft ² | Basement Finish | Style Code & Des | | |
| GARAGE | 0 | 1,152 | | 1,152 | - | DETACHED | | |
| Segment | Story | Width | Length | | Foundation | | | |
| BAS | .25 | 12 | 24 | 288 | FLOATING SLAB | | | |
| BAS | .23 | 24 | 24 36 | 864 | FLOATING SLAB | | | |
| OPX | 1.2 | 24 12 | 30 24 | 288 | FLOATING SLAB | | | |
| | I | | | | | | | |
| | | - | | Details (SHED | • | | | |
| Improvement Type | Year Built | Main Floo | or Ft ² | Gross Area Ft ² | Basement Finish | Style Code & Des | | |
| STORAGE BUILDING | 0 | 96 | | 96 | - | - | | |



St. Louis County, Minnesota



Date of Report: 5/13/2025 11:08:04 PM

| Segmen | Segment Story | | Width Length Area | | Foundation | | | | |
|-------------------|--|------------------------|----------------------------------|----------------------------|------------|----------------------------|--------------------|---------------------|--|
| BAS | 1 | 8 | 12 | 96 | | POST ON GRO | UND | | |
| | | Improve | ement 20 D | etails (SHED) | l. | | | | |
| Improvement Type | e Year Built | Main Flo | oor Ft ² G | Fross Area Ft ² | Baser | Basement Finish Style Code | | Code & Desc. | |
| STORAGE BUILDIN | G 0 | 100 | | 100 | | | | - | |
| Segmen | nt Stor | y Width | Width Length | | Area | | Foundation | | |
| BAS | 1 | 10 | 10 100 | | | POST ON GROUND | | | |
| | | Sales Reported | to the St. I | Louis County | Auditor | | | | |
| No Sales informat | ion reported. | | | | | | | | |
| | | A | ssessment | History | | | | | |
| Year | Class Code (<mark>Legend</mark>) | Land EMV | Bldg EMV | I To | otal MV | Def Land EMV | Def Bldg EMV | Net Tax Capacity | |
| 2024 Payable 2025 | 720 | \$172,800 | \$25,434 | ,000 \$25,6 | 06,800 | \$0 | \$0 | - | |
| | Total | \$172,800 | \$25,434 | ,000 \$25,6 | 06,800 | \$0 | \$0 | 0.00 | |
| | 720 | \$167,300 | \$24,046 | ,400 \$24,2 | 13,700 | \$0 | \$0 | - | |
| 2023 Payable 2024 | Total | \$167,300 | \$24,046 | ,400 \$24,2 | 13,700 | \$0 | \$0 | 0.00 | |
| | 720 | \$159,100 | \$18,737 | ,500 \$18,8 | 96,600 | \$0 | \$0 | - | |
| 2022 Payable 2023 | Total | \$159,100 | \$18,737 | ,500 \$18,8 | 96,600 | \$0 | \$0 | 0.00 | |
| | 720 | \$145,400 | \$15,621 | ,000 \$15,7 | 66,400 | \$0 | \$0 | - | |
| 2021 Payable 2022 | Total | \$145,400 | \$15,621 | ,000 \$15,7 | 66,400 | \$0 | \$0 | 0.00 | |
| | | _ | Fax Detail H | listory | I | | | | |
| Tax Year | Тах | Special Assessments | Total Tax Special Assessme | 1 | Land MV | Taxable Buildin MV | | al Taxable M\ | |
| 2024 | \$0.00 | \$800.00 | \$800.00 |) (| \$0 | \$0 | | \$0 | |
| 2023 | \$0.00 | \$800.00 | \$800.00 | - | \$0 | \$0 | | \$0 | |
| 2022 | \$0.00 | \$800.00 | \$800.00 |) (| \$0 | \$0 | | \$0 | |

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.